Subject Code 303(A)
Class TYBCom.

Question Option Text 1 Option Text 2 Option Text3 | Option Text 4

Depreciation is defined as....... Destruction of a Loss of equipment | Closure of a Closure of a
plantin a fire over time due to plant due to plant due to
accident wear and tear labour trouble | lockout
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The contribution of agriculture to India's' GDP is: Constant Uncertain Increasing Decreasing
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The per capita income is obtained by: Estimating the Summing up the Dividing Dividing the
minimum income of | income of all the national total national
individual citizens citizens of the income by the | capital with the

country population profit earned
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Who is the originator of Green Revolution in India? Dr. Vergese Kurien M.S. Swaminathan | Garry Backer Norman E.
Borlaug
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During which Five Year Plan the total expenditure on agriculture
was highest?

Third Five Year Plan

Fourth Five Year
Plan

Second Five
Year Plan

First Five Year
Plan




%ﬁmwm%mwwm@éﬂaﬁﬁa?

IRRRRCECILED
BISE

CINIEEINED
BISE|

USRI EEIREY
BISE]

UICCINECINED
ST

Cyclical unemployment refers to:

Seasonal
unemployment

Unemployment

during recessionary

phase of a trade
cycle

Disguised
unemployment

Voluntary
unemployment
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Take off stage' in an economy means. Steady growth Economy is Economy is All controls are
begins stagnant about to removed
collapse
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70% of working population of India is engaged in: Public sector Primary sector Secondary Tertiary sector
sector
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Indian economy is a....... Socialistic economy | Capitalistic Mixed Free economy
economy economy
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Mixed economy means........

Both agriculture and
industry are equally

There is co-
existence of public

There is
importance of

Economy is
controlled by

promoted by the sector along with small scale military as well
state private sector industries as civilian rulers
along with
heavy
industries
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'Globalisation of Indian Economy' means: Stepping up external | Establishing Indian | Having Giving up
borrowings business units minimum programmes of
abroad possible import
restrictions on | substitution
economic
relations with
other
countries
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Which of the following statements about the Indian Economy is
correct?

About 70% Indians
are involved in some
type of self-
employment

Indian economy is
as developed as
that of China

In India, single
biggest
employment is
from

About 48%
Indian workforce




agriculture and
allied activities
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A "closed economy" is an economy in which The money supply is | Deficit financing Only exports Neither exports

fully controlled takes place take place nor imports take
place
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The type of unemployment mostly found in India can be Structural Frictional Cyclical Disguised

characterised as :
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Which country is the first benefiaty of BRICS? India Brazil Russia China.
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An Efficient production in the agricultural,Industrial & service Per Capita Income Infrastructure Government National Income

sector depends on.......
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Which of the following sectors take the lead to investment in
Infrastructural facility in India

Private Sectore

Public Sector

Foreign Sector

External Sector
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Who recommends the MSP and issue prices? Ministry of Planning Commission NABARD
agriculture commission for Agricultural
Costs and
Prices
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